Bock to Showing thad o collineation is centrwl if it is axiol (& vice Verso)
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Se%w it up differently

‘We Know  thak %undM:KX‘m fixed bj oL
“Now pick. o ¥ not on £ orm
*TF YLC, ok v

C since CT 4

TEVY ZC e YW L ok some phink D#C
X and YV hove 4o ndersect ot Some po'xﬁtZZﬂ.
* We are in the cose where no point of £ is Fixed.
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»The other direchon (thak central => oxiol) works the same woy with Hie roles
of polnts 4 lines in’rerchungec[.

A (P, L) centrl collineation ot is one +hok has centre P and axis L.
fack: TF x 4 B are both (P,L) cenhwl collineations , then so is o< B =B

fuck 2 Tf o i5 o (P, L) centrul coltineadion , 50 IS e



